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1)

— 1 es raiz

— — 3 no es raiz
-3 -3 21 —-69 192

1 -7 23 -—-64 188

1 -4 2 5 -4

— 5 no es raiz
S5 S5 5 35 200

1 1 7 40 196

1 -4 2 5 —4

— —7 no es raiz
-7 -7 77 =553 3836
1 =11 79 =548 3832

2)
P(x)=(x=2)(x+5)(x=6) = (x> = 2x+5x— 10 x—6) = (x* + 3x - 10)x—6) =
=x7+3x2=10x-6x>-18x+60 = x> —3x* =28x+60

1 -3 -28 60

2 2 -2 -60

I -1 =30 0

I -1 =30
-5 30

|1 -6 0




3) Escribe un polinomio de tercer grado cuyas raices sean 2, -2 y 3
P(x)=(x—2)(x+2)(x=3)= (¥ —4)x-3)=x’ —4x-3X +12=
=x —=3x" —4x+12

4)

x’—x
I -1 0
1 I 0 — dosraicesOyl
I 0 0
x' =1
I 0 0 -1
—  raiz 1
1 1 1 1
1 1 1 0
x* +x
I 0 0 I O
—  raiz 0,—1
0 0O 0 0 O
I 0 0 I O
1 0 0 1
—1 -1 1 -1
I -1 1 0




